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- What are all horizontal asymptotes of the graph of y = f+22: in the xy-planc?
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- What is the slope of thel line tangent to the curve y =arctan (4x) at the point at whic?/
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The function f(x) = x° + 3x — 2 passes through the point (1, 2). Let £~ denote the inverse of f. Then
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Unit 5 Five ‘n One- Morning

Vame:
et f be the function defined by f(x) = e*cosx with domain [0, 2rt].
a) Find the absolute minimum value of f(x)
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c) Find the x-coordinate of each point of inflection on the graph
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d) Estimate the function when x = (g + .1) using the tangent line approximation at % Is your estimate greater

than or less than th7 true value? Give a reason for your answer.
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